A7 — LN X

H | T H =% L@ >
1| K | HHEEIEE 15 : 20 16 : 20
2 | K| TN—FIMES  XERR LATRE 12 : 15 —

3 | & | BELS

4 |+ AL VODH

5 H &80 H

6 | A |z

7 | k| eEE 16 : 20 —
8 |k |ZEHS ALT PTA=%&% - &KES 15 : 20 16 : 20
9 | K| KWIHES 14 : 20 15 : 10
10 |4 |HEZ %&H 15 : 20 16 : 20
11 |+ | BBRPBFES

12

13 | A | E#aa G 14 : 20 15 : 10
14 | k| REHS  WEHRZ [2] 16 : 20 —
15 |7 |ALT 15 : 20 16 : 20
16 | K 14 : 20 15 : 10
17 | & |ICTHR—2—3fk  EEREHMEHHM [64F] 15 : 20 16 : 20
18 | - | PTA BRIERm{EE

19 H

20 | A | BEa#® 14 : 20 15 : 10
21| k| 277  EKEE (X 16 : 20 —
2 2 | K| EBSHREE  ALT 15 : 20 16 : 20
23 | K| AEETWE  BRKEEH [EA] 14 : 20 15 : 10
2 4 | & | EHRATHERERE  PTA &\ X D) 15 : 20 16 : 20
25 | | KEH2 XOERSE D H
26 H

27 | B | #&EIkH

28 |k 16 : 20 —
29 |/ |[ALT 15 : 20 16 : 20
30 | K| KNFES 14 : 20 15 : 10
31 | & | 7—viFhw AKRZES 15 : 20 16 : 20




